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‘n mwn: hierarchy in ma»

a
b

C

ideally — 5
if not, we continue asking each brother if he’s willing to perform ma»
if none of them are willing, we return to 911 for n¥’Yn

'y mwn: potential delays

a

if (one of) the brothers requested to wait until a brother achieved majority, returned from abroad or an
incompetent brother — we pay no heed, rather direct him to act immediately

possible stand-offs (1311 *1/5"277) (op here means “younger”, but he is of age)

a

possibility #1: 7op N1 vs. 5T N¥on — which is preferable

i lemma #1: yop nRoa is preferable —ideal is Nx>a

it lemma #2: 9y1 n¥YN is preferable — the mxn rests with the oldest

iii analysis: n1wn seems to support jop NX’3, because after the Y17 refuses m11», we try the others

iv  rejection: perhaps the %17 refused both — then we force him, since he is the “point man”

v observation: reason we don’t wait for the child to grow — not because D193 1% j9p n&’3, but we don’t delay
possibility #2: all agree that any nX»1 is preferable; dispute as to whether there is any hierarchy of nx'9n
i lemma #1: 9y1 n¥Yn is preferable — the mxn rests on him

ii  lemma #2: no preference — only preference re: ma»

iii  analysis: “returning to 7" in our NMWwn seems to support contention that his n¥'Yn is preferred

iv  rejection: we return after all of them refuse both nx'm ma» — as “point man”, we force him to act

Evolution of ma» (xn»71)

a

b

Originally — m12» was preferred
“nowadays” — since people aren’t intending n'nw nwY — n¥Hn is preferred, as per NRY Rax:
i 91w Rark maintains that any 127 motivated by attraction etc. is close to a violation
ii  onIn: PHY R NP (v. 1) — without regards to motivation
17 and "M’ 29 would leave it up to D2’ (as indicated by wording of n¥’n 9vw from NN’ 27 5w 177 N*2)
i Tangent: dispute as to whether we require proper n*7 or just “informants” to identify parties
Enigmatic xn»1a:
i oY R AN - Mxn
ii ~ Originally she was mmmn
iii She married his brother — n7ox)
iv  The brother died childless — I might think that she reverts to her original status: n%y 82> 12’ Yn
1 Interpretation #1 (707728 2 pny’ *7): (crediting Xn»71 to YIRW RaR): she was originally nimn even
as a result of attraction etc.; now she is only mxn owb naimn
2 Interpretation #2 (827): (crediting Xn»72 to 1127): she was originally min1n — sans Mmxn; now mMxn
to take her in
XY™ of same RN (as comparison): parallel development regarding nmmn (v. 2)
i supports X171 — there is no “limited” way of eating — but now there is a mxn (v. 3)
ii ~ Defense of 8"1m's take: (couldn’t be eaten as ynn due to v. 4)
1 Excludes vi9n (boiled dough, which is baked afterwards) — which is valid as mxn

1t mwn: status of deceased brother’s estate:

a

b

upon n¥on — 7N is like every other brother vis-a-vis nkn nw1 (i.e. he isn't fined for actively rejecting
possibility of maintaining his brother’s memory); if father is alive, all come to him

Upon ma» — na7n inherits entire estate of deceased brother as per v. 1 (aYmY — vnxr ow Yy D)

i nmm 1 —if father is alive, he also inherits deceased entire estate of deceased brother/son

ii  reason: following v. 1 — he inherits like a 7133, who gets nothing if father is alive

iii ruling: against nT¥ »27 — D2 inherits entire estate, even if father is alive
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